
NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                         
02 (E10)                                                                                        09 / 1996 - 05 / 2003

                                                                                         
02 Convertible (E10)                                                                       12 / 1967 - 07 / 1975 

1 1

2 3

02
BMW
                                                                                         
02 (E10)                                                                                           12/1967 - 07/1977

NO ASMETAL CODE MEASURES OEMDESCRIPTION

10BM0015

4

1

2

3

1

2

3

4

31 13 1 103 834 

438 404 

438 405 

32 10 6 765 235

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,35  

c:Ø12,5 th:MM14x1,5 RHT 

c:Ø12,5 th:MM14x1,5 LHT 

th:MM18x1.5 RHT L:256mm 

 

10BM0015 

17FR1530 

17FR1550 

20BM2450 

 

31 13 1 103 834 

438 404 

438 405 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right

th:M12x1.25 RHT  cp:1/10 cs:Ø14,35  

c:Ø12,5 th:MM14x1,5 RHT 

c:Ø12,5 th:MM14x1,5 LHT

10BM0015 

17FR1530 

17FR1550

1 31 13 1 103 834 

 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,35  Ball Joint10BM0015

10BM0015

20BM245020BM2450

17FR1530

17FR1530

17FR1550

17FR1550

1
2 3

10BM0015

1

10BM0015

                                                                                         
02 Touring (E6)                                                                               01 / 1971 - 07 / 1975 

1

10BM0015

1

10BM0015



1500-2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2500

2000

1500-2000(115, 116, 118, 121) 10/1962 - 11/1972

                                                                                         
2000-3.2 Coupe (E9)                                                                       10 / 1965 - 03 / 1976 

BMW

1

10BM0015

1

1 31 13 1 103 834th:M12x1.25 RHT  cp:1/10 cs:Ø14,35  

 

Ball Joint10BM0015

1

2

32 21 1 114 843

32 21 1 114 842

Tie Rod End

Tie Rod End

c:Ø12,6 th:MM16x1,5 RHT 

c:Ø12,6 th:MM14x1,5 RHT 
17BM0030

17MR1530

1 31 21 1 114843Tie Rod End c:Ø12,6 th:MM16x1,5 RHT 

 
17BM0030

10BM0015

1

17BM0030

1

17BM0030

2

17MR1530

2

17MR1530

                                                                                         
2500-3.3 (E3)                                                                                    10/1968 - 04/1977

1

17BM0030

1

17BM0030



9

2 34

29BM2450

20BM2450 20BM2450

29BM2451

17BM2451

10

17BM2450

1-SERIE
1 (E81)
1 Coupe (E82)
1 (E87)
1 Convertible/Cabrio (E88)

09/2004 - 09/2012
01/2006 - 01/2013
11/2003 - 01/2013
01/2008 - 09/2012

BMW

7 6

26BM245026BM2451

           TRW STEERING

11

2 3
5

29BM2452

20BM2452 20BM2452

29BM2453

17BM2450 17BM2451

12

        ZF STEERING

1

8

26BM2452

11BM2600

26BM2452
NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5
6
77
8
9
10
11
12

33 32  6 756 249 
32 10 6 767 781 
32 10 6 767 782 
32 10 6 765 235* 
32 21 6 762 243* 
31 35 6 765 934 
331 35 6 765 933 
33 55 6 764 428 
32 10 6 765 235 
32 10 6 765 236 
32 21 6 762 243 
32 21 6 762 244 

Silentblock Bushing 
Tie Rod End Left 
Tie Rod End Right 
Axial Joint 
Axial Joint 
Stabiliser Link Right 
Stabiliser Link LeStabiliser Link Left 
Stabilizer Link Rear 
Tie Rod Left 
Tie Rod Right 
Tie Rod Left 
Tie Rod Right 

th:FM14x1,5 RHT 
th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:256mm 
th:MM18x1.5 RHT L:246mm 
L:290mm  
L:290mm  
L:L:161mm  
 
 
 
 

11BM2600 
17BM2450 
17BM2451 
20BM2450 
20BM2452 
26BM2450 
26BM26BM2451 
26BM2452 
29BM2450 
29BM2451 
29BM2452 
29BM2453

1

11BM2600



26BM2520

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1-SERIE
BMW

1 (F20)
1 (F21)

06/2011 ->
12/2011 ->

1

2

3

4

5

33 32  6 756 249

33 50 6 785 607 

33 50 6 785 608 

31 30 6 792 211 

31 30 6 792 212 

Silentblock Bushing

Stabiliser Link Rear Left 

Stabiliser Link Rear Right 

Stabiliser Link 

Stabiliser Link Right 

11BM2600 

26BM2510 

26BM2511 

26BM2520 

26BM2521 

44

26BM2520

54

26BM252126BM2520

EXC. Adaptive M-Suspension

Adaptive M-Suspension + xDrive

3
1

2

26BM2511

11BM2600

26BM2510

1

11BM2600



2 SERIE
BMW

2 COUPE (F22)
2 CABRIO (F23)

10/2013 ->
11/2014 ->

26BM2520

44

26BM2520

26BM252126BM2520

3
1

2

26BM2511

11BM2600

26BM2510

1

11BM2600

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

33 32  6 756 249

33 50 6 785 607 

33 50 6 785 608 

31 30 6 792 211 

31 30 6 792 212 

Silentblock Bushing

Stabiliser Link Rear Left 

Stabiliser Link Rear Right 

Stabiliser Link 

Stabiliser Link Right 

11BM2600 

26BM2510 

26BM2511 

26BM2520 

26BM2521 

54

EXC. Adaptive M-Suspension

Adaptive M-Suspension + xDrive



                                                                                         
3 (E21)                                                                                              06/1975 - 03/1984

With Streering Damper

5

1 1

2

29BM0006

20BM0020 20BM0020

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

Tie Rod End 

Axial Joint 

Axial Joint 

Tie Rod   

Tie Rod   

 

c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1.5 RHT  

th:MM14x1.5 RHT L:255mm 

 

 

 

 

17BM0001 

20BM0020 

20BM0030 

29BM0005 

29BM0006 

 

32 11 1 116 463 

32 11 1 116 710 

32 11 1 116 709 

32 11 1 115 229 

32 11 1 115 241 

 

29BM0006

17BM0001 17BM0001

4

1 13

29BM0005 29BM0005

20BM0030 20BM0030

3-SERIE
BMW

17BM0001 17BM0001

With Streering Damper



NO ASMETAL CODE MEASURES OEMDESCRIPTION

3-SERIE
BMW
                                                                                        
3 (E30)                                                                                         09 / 1982 - 10 / 1993
3 Convertible (E30)                                                                        12 / 1985 - 10 / 1993
3 Touring (E30)                                                                               07 / 1987 - 06 / 1994 

6

8

6

26BM0001

26BM010026BM0100

With Steering Damper

 10 9

3 35 4

29BM0002 29BM0001

20BM0031 20BM002117BM0002 17BM0002

Without Steering Damper

10

29BM0002 29BM0002

       --> 09/1988 - EXC X-DRIVE

2

1 1

10BM0011 10BM001110BM0010 10BM0010

3 3
5

20BM0031 20BM003117BM0002 17BM0002

7 7
26BM0002 26BM0002

EXC X-DRIVE, M3 EXC X-DRIVE, M3 

M3  2.3 26BM0001
M3  2.3

1
2
3
4
5
6
77
8
9
10

31 12 1 126 254 
31 12 1 126 253 
32 11 1 126 757 
32 11 1 126 620 
32 11 1 127 124 
31 35 1 134 582 
33 55 1 126 93233 55 1 126 932 
31 35 1 091 764 
32 11 1 125 187 
32 11 1 125 186 

Ball Joint Lower 
Ball Joint Lower 
Tie Rod End 
Axial Joint Right 
Axial Joint 
Stabiliser Link 
Stabiliser Link Stabiliser Link Rear 
Stabiliser Link 
Tie Rod Right 
Tie Rod   

th:M12x1.25 RHT  cp:1/10 cs:Ø14,3 do:Ø41,4 

th:M14x1.5 RHT  cp:1/5 cs:Ø14,7 do:Ø41,4 
c:Ø12,6 th:MM14x1,5 RHT 
th:MM18x1.5 RHT L:232mm 
th:MM18x1.5 RHT L:232mm 
L:240mm  
   
L:66mm  
 
 

10BM0010 
10BM0011 
17BM0002 
20BM0021 
20BM0031 
26BM0001 
26BM000226BM0002 
26BM0100 
29BM0001 
29BM0002 



NO ASMETAL CODE MEASURES OEMDESCRIPTION

3-SERIE
BMW

1
2
3
5
6
7
88
10
11
12

31 12 1 140 398 
31 12 1 140 398 R 
31 12 1 139 131
32 11 1 139 313 
32 11 1 139 314 
32 11 1 139 315* 
331 35 1 134 582
31 35 1 091 764 
32 11 1 139 315 
32 11 1 139 316 

Ball Joint 
Ball Joint 
Ball Joint
Tie Rod End Left 
Tie Rod End Right 
Axial Joint 
Stabiliser LinkStabiliser Link
Stabiliser Link 
Tie Rod Left 
Tie Rod Right 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø35 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø49,4 

th:M14x1.5 RHT  cp:1/5 cs:Ø14,7 do:Ø41,4

c:Ø12,6 th:FM14x1,5 RHT 
c:Ø12,6 th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:207mm 
L:L:240mm  
L:66mm  
 
 

 

10BM0100 
10BM0101 
10BM1500
17BM1501 
17BM1502 
20BM1500 
26BM0026BM0001
26BM0100 
29BM1501 
29BM1502

                                                                                        
3 (E36)                                                                                             09/1990 - 08/2000
3 Convertible (E36)                                                                            12/1993 - 04/1999
3 Coupe (E36)                                                                                   03/1992 - 04/1999
3 Touring (E36)                                                                                  01/1995 - 10/1999

75

17BM1501

                EXC M3

2

33

1

10BM0101

10BM1500

20BM1500 20BM1500

10BM0100

6

12

29BM1501
11

29BM1502

17BM1502

1

10BM0100

10BM1500

10BM0101

810 10

26BM0001

26BM010026BM0100

26BM0001

-->10/1991 EXC Convertible, Coupe, M3    

10/1991--> 10/1991--> 

EXC M3



3-SERIE
BMW

NO ASMETAL CODE MEASURES OEMDESCRIPTION

4

9

13

14

15

16

33 32 1 138 722

33 55 1 126 932

33 32 6 770 824 

33 32 6 771 828 

33 55 1 138 104 

33 55 1 131 155 

Silentblock  

Stabiliser Link Rear

Silentblock for Sus.Arm 

Silentblock for Sus.Arm 

Stabiliser Mounting 

Stabiliser Mounting 

di:Ø12,15 do:Ø45,2 

di:Ø12,1 do:Ø35,3 

di:Ø12 do:Ø45,5 

di:Ø17  

di:Ø15  

11BM1500

26BM0002

38BM1500 

38BM1505 

38BM1530 

38BM1535 

                                                                                        
3 (E36)                                                                                         09 / 1990 - 08 / 2000
3 Convertible (E36)                                                                        12 / 1993 - 04 / 1999
3 Coupe (E36)                                                                               03 / 1992 - 04 / 1999
3 Touring (E36)                                                                              01 / 1995 - 10 / 1999

4

13 14

9

15

16

38BM1500

38BM1535
Ø15

EXC Touring

Ø15

Ø18-19Ø18-19

10/1991-->

38BM1535

38BM153038BM1530

38BM1505

26BM0002

9

EXC Touring
26BM0002

4

38BM1500

14

38BM1505

11BM1500 11BM1500



NO ASMETAL CODE MEASURES OEMDESCRIPTION

3-SERIE
BMW
                                                                                        
3 Compact (E36)                                                                                  01/1994 - 08/2000

1
2
3
4
5
6
77
8
9
10
11

31 12 1 140 398 
31 12 1 140 398 R 
31 12 1 139 131 
32 11 1 139 313 
32 11 1 139 314 
32 11 1 136 133 
331 35 1 091 764 
32 11 1 139 315 
32 11 1 139 316 
33 32 6 770 824 
33 32 6 471 828 

Ball Joint 
Ball Joint 
Ball Joint 
Tie Rod End Left 
Tie Rod End Right 
Axial Joint 
Stabiliser LinkStabiliser Link 
Tie Rod Left 
Tie Rod Right 
Silentblock for Sus.Arm 
Silentblock for Sus.Arm 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø35 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø49,4 

th:M14x1.5 RHT  cp:1/5 cs:Ø14,7 do:Ø41,4 

c:Ø12,6 th:FM14x1,5 RHT 
c:Ø12,6 th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:207mm 
L:66mm L:66mm  
 
 
di:Ø12,1 do:Ø35,3 
di:Ø12 do:Ø45,5 

10BM0100 

10BM0101 
10BM1500 
17BM1501 
17BM1502 
20BM1500 
26BM26BM0100 
29BM1501 
29BM1502 
38BM1500 

38BM1505 

7

8

4

9

7

26BM0100

29BM1501

6

20BM1500 20BM1500

5

29BM1502

26BM0100

EXC M3

2

33

1 1

10BM0101

10BM1500

10BM0100 10BM0100

10BM1500

10BM0101

38BM1500 38BM1500

10
38BM1505

11

38BM1505

11

17BM1501 17BM1502



3-SERIE
BMW
                                                                                        
3 (E46)                                                                                         02 / 1998 - 12 / 2004
3 Touring (E46)                                                                              10 / 1999 - 02 / 2005
3 Coupe / Touring (E46)                                                                  02 / 1999 - 07 / 2006
3 Compact / Convertible (E46)                                                         03 / 2001 - 02 / 2005

NO ASMETAL CODE MEASURES OEMDESCRIPTION

6

26BM2000

3

17BM2000

5

20BM2000

6

26BM2000

4
17BM2001

11

10BM0101 10BM0101

EXC. XI-XD

7

30BM2000

8

30BM2001

109

30BM2002 30BM2003

16

38BM1520

13

38BM1510 38BM1510

17

38BM1521

20BM2000

EXC. Compact&Convertible

1
3
4
5
6
7
88
9
10
13
16
17

31 12 6 758 510 R 
32 10 6 774 220 
32 10 6 774 221 
32 10 6 774 222 
31 35 1 095 694 
31 12 2 282 121 
331 12 2 282 122 
31 12 2 282 121 S1 
31 12 2 282 122 S1
31 12 1 095 277
31 12 6 754 899 
31 12 6 754 900 
 
 

Ball Joint

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 
Stabiliser Link 
TCA Left 
TTCA Right 
TCA Left 
TCA Right
Silentblock Inner for TCA 
Silentblock for TCA Left 

Silentblock for TCA Right 

 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø49,4 

c:Ø14,6 th:FM14x1,5 RHT 
c:Ø14,6 th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:204mm 
L:270mm  

do:Ø66,5 

 

10BM0101
17BM2000
17BM2001 
20BM2000 
26BM2000 
30BM2000 
30BM2030BM2001 
30BM2002
30BM2003
38BM1510
38BM1520 
38BM1521 
 
 



NO ASMETAL CODE MEASURES OEMDESCRIPTION

3-SERIE
BMW
                                                                                        
3 (E46)                                                                                         02 / 1998 - 12 / 2004
3 Touring (E46)                                                                              10 / 1999 - 02 / 2005
3 Coupe / Touring (E46)                                                                  02 / 1999 - 07 / 2006
3 Compact / Convertible (E46)                                                         03 / 2001 - 02 / 2005

2

11

12

14

15

33 32 1 138 722

33 32 6 770 824 

33 32 6 471 828 

33 55 1 138 104 

33 55 1 131 155 

Silentblock

Silentblock for Sus.Arm 

Silentblock for Sus.Arm  

Stabiliser Mounting 

Stabiliser Mounting 

di:Ø12,15 do:Ø45,2 

di:Ø12,1 do:Ø35,3 

di:Ø12 do:Ø45,5

di:Ø17  

di:Ø15  

11BM1500

38BM1500 

38BM1505 

38BM1530 

38BM1535 

 

2

11BM1500

12

38BM1505

11

38BM1500

2

11BM1500

12

38BM1505

15

38BM1535 38BM1535

14

11

38BM1500

Ø15 Ø15

Ø18-19 Ø18-19
38BM1530 38BM1530



NO ASMETAL CODE MEASURES OEMDESCRIPTION

3-SERIE
BMW
                                                                                        
3 (E90, E91, E92, E93)                                                                   01 / 2005 - 12 / 2011
3 Touring (E91)                                                                              09 / 2007 - 06 / 2012

1
4
5
6
7
8
99
10
12
13
14
15
16
117

31 12 6 768 988
32 10 6 767 781 
32 10 6 767 782 
32 10 6 768 879 
32 10 6 765 235 
32 21 6 762 243 
331 35 6 765 934 
31 35 6 765 933 
31 35 6 768 771 
31 35 6 768 772 
32 10 6 765 235 
32 10 6 765 236 
32 21 6 762 243 
32 32 21 6 762 244 

Ball Joint
Tie Rod End Left
Tie Rod End Right 
Axial Joint 
Axial Joint 
Axial Joint 
Stabiliser Link RightStabiliser Link Right 
Stabiliser Link Left 
Stabiliser Link Left 
Stabiliser Link Right 
Tie Rod Left 
Tie Rod Right 
Tie Rod Left 
Tie Tie Rod Right 

th:M14x1.5 RHT  cp:1/8 cs:Ø17,8  
th:FM14x1,5 RHT 
th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:260mm 
th:MM18x1.5 RHT L:256mm 
th:MM18x1.5 RHT L:246mm 
L:290mm L:290mm  
L:290mm  
 
 
 
 
 
 

10BM0400
17BM2450
17BM2451 
20BM0600 
20BM2450 
20BM2452 
26BM26BM2450 
26BM2451  
26BM2500 
26BM2501 
29BM2450 
29BM2451 
29BM2452 
29BM29BM2453 

9
1312

10

26BM2450
26BM250126BM2500

Exc. XI-XDXI - XDXI - XDExc. XI-XD

26BM2451

16 17

4

29BM2452 29BM2453

17BM2451

TRW STEERING

ZF STEERING

for XI - XD

8
5

20BM2452 20BM2452

14

4

29BM2450

17BM2450
20BM2450

20BM0600 20BM0600

10BM0400

7

6

1

15
29BM2451

17BM2451

5

20BM2450

10BM0400

1

17BM2450



3-SERIE
BMW
                                                                                        
3 (E90, E91, E92, E93)                                                                   01 / 2005 - 12 / 2011
3 Touring (E91)                                                                              09 / 2007 - 06 / 2012

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

3

11

33 32 6 767 748

33 32  6 756 249

33 55 6 764 428

Silentblock Bushing

Silentblock Bushing 

Stabiliser Link Rear

di:Ø16,3 do:Ø52

 

L:161mm  

11BM0300

11BM2600 

26BM2452

Only For 3 Touring (E91) 325 i xDrive
09 / 2007 - 06 / 2012

11BM0300

2

26BM2452

3 1111

11BM0300

26BM2452

11BM260011BM2600



3-SERIE
BMW

3-SERIE (F30, F31)
3-SERIE GT (F34)

10/2011 ->
10/2015 ->

26BM2520

44

26BM2520

54

26BM252126BM2520

3
1

2

11BM2600

1

11BM2600

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

33 32  6 756 249

33 50 6 785 607 

33 50 6 785 608 

31 30 6 792 211 

31 30 6 792 212 

Silentblock Bushing

Stabiliser Link Rear Left 

Stabiliser Link Rear Right 

Stabiliser Link 

Stabiliser Link Right 

11BM2600 

26BM2510 

26BM2511 

26BM2520 

26BM2521 

26BM251126BM2510

EXC. Adaptive M-Suspension

Adaptive M-Suspension + xDrive



4-SERIE
BMW

4-SERIE COUPE (F32)
4-SERIE CABRIO (F33)
4-SERIE GRAND COUPE (F36)

07/2013 ->
10/2013 ->
03/2014 ->

26BM2520

44

26BM2520

54

26BM252126BM2520

3
1

2

26BM2511

11BM2600

26BM2510

1

11BM2600

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

33 32  6 756 249

33 50 6 785 607 

33 50 6 785 608 

31 30 6 792 211 

31 30 6 792 212 

Silentblock Bushing

Stabiliser Link Rear Left 

Stabiliser Link Rear Right 

Stabiliser Link 

Stabiliser Link Right 

11BM2600 

26BM2510 

26BM2511 

26BM2520 

26BM2521 

EXC. Adaptive M-Suspension

Adaptive M-Suspension + xDrive



NO ASMETAL CODE MEASURES OEMDESCRIPTION

5-SERIE
BMW

1 32 21 1 114 843Tie Rod End c:Ø12,6 th:MM16x1,5 RHT 17BM0030

11

17BM0030 17BM0030

                                                                                        
5 (E12)                                                                                          08 / 1972 - 08 / 1981



NO ASMETAL CODE MEASURES OEMDESCRIPTION

5-SERIE
BMW
                                                                                        
5 (E28)                                                                                              05/1981 - 12/2011

1

2

3

4

5

6

77

8

9

33 32 1 126 476 

32 21 1 135 819 

32 21 1 135 820 

32 21 1 135 666 

31 12 1 139 991 

31 12 1 139 992 

331 35 1 134 582 

33 55 1 126 932

31 12 1 133 236 

 

Silentblock   

Tie Rod End 

Tie Rod End 

Tie Rod (Adjustable) 

TCA Left 

TCA Right 

Stabiliser LinkStabiliser Link 

Stabiliser Link Rear

Silentblock For TCA 

 

di:Ø14 

c:Ø12,6 th:MM14x1,5 LHT 

c:Ø12,6 th:MM14x1,5 RHT 

c:Ø12,6 th:M10x1.0 RHT 

c:1:10 th:M14x1.5 RHT L:324mm 

c:1:10 th:M14x1.5 RHT L:324mm 

L:L:240mm  

  

11BM00 

17BM10 

17BM11 

21BM10 

23BM01 

23BM02 

26BM0026BM0001 

26BM0002

38BM0301 

 

2 3

4

17BM10

21BM10 21BM10

3 2

5

17BM11 17BM1017BM11

26BM0002

8
11BM00

1

26BM0002

1

11BM00

38BM0301

7

26BM0001 26BM0001

69

23BM01
23BM02



NO ASMETAL CODE MEASURES OEMDESCRIPTION

BMW
5-SERIE
                                                                                        
5 (E34)                                                                                              01/1988 - 01/1997
5 Touring (E34)                                                                                   01/1988 - 01/1997

2

3

4

5

6

7

88

9

10

11

12

32 21 1 135 819 

32 21 1 135 820 

32 21 1 135 666 

32 21 1 138 854 

31 12 1 139 991 

31 12 1 139 992 

331 12 1 132 159 

31 12 1 132 160 

31 35 1 134 582 

31 12 1 130 587

31 12 1 133 236 

 

Tie Rod End 

Tie Rod End 

Tie Rod (Adjustable) 

Tie Rod (Center) 

TCA Left 

TCA Right 

TTCA Left 

TCA Right 

Stabiliser Link 

Silentblock for TCA

Silentblock For TCA 

 

c:Ø12,6 th:MM14x1,5 LHT 

c:Ø12,6 th:MM14x1,5 RHT 

c:Ø12,6 th:M10x1.0 RHT 

th1:M10x1.0 RHT  L:610mm 

c:1:10 th:M14x1.5 RHT L:324mm 

c:1:10 th:M14x1.5 RHT L:324mm 

c:1:c:1:10 th:M14x1.5 RHT L:388,65mm 

c:1:10 th:M14x1.5 RHT L:388,65mm 

L:240mm  

di:Ø14 do:Ø58,2 

17BM10 

17BM11 

21BM10 

22BM1000 

23BM01 

23BM02 

23BM23BM1000 

23BM1001 

26BM0001 

38BM0300

38BM0301 

10

26BM0001

10

5

26BM0001

2 3

4

17BM10

21BM10 21BM10

3 2

17BM11 17BM1017BM11

23BM01
6

23BM1000

8

23BM02

9

7

23BM1001
11

12

22BM1000

38BM0300

38BM0301



NO ASMETAL CODE MEASURES OEMDESCRIPTION

BMW
5-SERIE
                                                                                        
5 (E34)                                                                                              01/1988 - 01/1997
5 Touring (E34)                                                                                   01/1988 - 01/1997

1

13

14

33 32 1 126 476

33 55 1 138 104 

33 55 1 131 155 

di:Ø14

di:Ø17  

di:Ø15  

Silentblock

Stabiliser Mounting 

Stabiliser Mounting 

11BM00

38BM1530 

38BM1535 

14

38BM1535 38BM1535

13

Ø15 Ø15

Ø18-19 Ø18-19
38BM1530 38BM1530

11BM00

1 1

11BM00



NO ASMETAL CODE MEASURES OEMDESCRIPTION

5-SERIE
BMW
                                                                                        
5 (E39) 520,523,525,528                                                                11 / 1995 - 05 / 2004

1

2

3

4

5

6

77

8

9

10

33 32 6 767 748 

32 11 1 091 769 

32 11 1 091 770 

32 11 1 094 673* 

33 55 1 092 292 

31 35 1 095 661 

331 35 1 095 662 

31 12 9 068 753 

33 32 6 767 831* 

31 35 1 093 108 

di:Ø16,3 do:Ø52 

c:Ø12,8 th:FM16x1 RHT 

c:Ø12,8 th:FM16x1 RHT 

th:MM18x1.5 RHT L:174,5mm 

L:66mm  

L:240mm  

L:L:240mm  

di:Ø12,2 do:Ø58,5 

di:Ø12,2 do:Ø49,3 

di:Ø22,5  

Silentblock Bushing 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link Left 

Stabiliser Link RightStabiliser Link Right 

Silentblock for TCA 

Silentblock for TCA 

Stabiliser Mounting 

11BM0300 

17BM0300 

17BM0301 

20BM0300 

26BM0300 

26BM0500 

26BM0526BM0501 

38BM0305 

38BM0600 

38BM0700 

6 7

2 3

26BM0500

17BM0300
17BM0301

38BM0700 38BM0700

26BM0501

8 8

38BM0305 38BM0305

Ø22,5Ø22,5

4

20BM0300 20BM0300

10

1 1

11BM0300 11BM0300

5 5

26BM0300 26BM0300

9

38BM0600 38BM0600

Exc. Touring



5-SERIE
BMW
                                                                                        
5 (E39) 535i, 540i, M5                                                                   11 / 1995 - 05 / 2004

3

38BM0310

38BM060038BM0600

38BM0310

4

3

38BM031038BM0310

                                                                                        
5 Touring (E39) 535i, 540i, M5                                                        11 / 1995 - 05 / 2004

NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

33 32 6 767 748 

33 55 1 092 292 

31 12 0 006 482 

33 32 6 767 831* 

Silentblock   

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for TCA 

di:Ø16,3 do:Ø52 

L:66mm  

di:Ø14,1 do:Ø66,2 

di:Ø12,2 do:Ø49,3

11BM0300 

26BM0300 

38BM0310 

38BM0600 

1

11BM0300 11BM0300

1

2

26BM0300 26BM0300

1

11BM0300 11BM0300

1

22

26BM0300 26BM0300

4

38BM0600 38BM0600

1

2

3

4

33 32 6 767 748 

33 55 1 092 292 

31 12 0 006 482 

33 32 6 767 831* 

Silent Bushing 

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for Sus.Arm

di:Ø16,3 do:Ø52 

L:66mm  

di:Ø14,1 do:Ø66,2 

di:Ø12,2 do:Ø49,3 

11BM0300 

26BM0300 

38BM0310 

38BM0600



NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
5 (E60)                                                                                          07 / 2003 - 03 / 2010
5 Touring (E61)                                                                               06 / 2004 - 08 / 2010

BMW

5 6

26BM030626BM0305

8

29BM0305 29BM0305

1

4
33

17BM0305 20BM0305

10BM1100

20BM0305

2

711BM0300 11BM0300

XI - XD
vvv

5-SERIE

1

2

3

4

5

6

77

8

31 10 4 038 994 

33 32 6 767 748 

32 21 6 756 369 

32 10 6 777 479* 

31 35 4 014 531 

31 35 4 014 532 

33 50 6 733 50 6 781 540 

32 10 6 774 347 

Ball Joint 

Silent Bushing 

Tie Rod End 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Link Stabiliser Link Rear 

Tie Rod 

 

di:Ø16,3 do:Ø52 

th:FM16x1,5 RHT 

th:MM18x1.5 RHT L:260,5mm 

L:300mm  

L:300mm  

 

10BM1100 

11BM0300 

17BM0305 

20BM0305 

26BM0305 

26BM0306 

26BM26BM1100 

29BM0305 

17BM0305

26BM1100

Exc. Active Stab.

26BM1100

Exc. Active Stab.

7

10BM1100



NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

5-SERIE (F10)
5-SERIE TOURING (F11)
5-SERIE GRAN TURISMO (F07GT)

01/2009 - 10/2016
11/2009 - 02/2017
01/2009 - 02/2017

BMW

2

3

26BM0320

26BM0330

EXC. DYNAMIC DRIVE
F10

26BM0330

EXC. DYNAMIC DRIVE
F10

1

5-SERIE

1

2

3

33 32 6 780 438 

31 35 6 777 319 

33 55 6 777 635 

Silentblock Bushing 

Stabiliser Link 

Stabiliser Link Rear 

11BM1000 

26BM0320 

26BM0330 

26BM0320

3

5-SERIE (G30)
5-SERE TOURING (G31)

09/2016 -->
03/2017 -->

2
1

26BM0350

26BM0340

XDRIVE

26BM0340

XDRIVE
EXC. XDRIVEEXC. XDRIVE

11BM1000

1

2

31 30 6 861 485 

31 30 6 861 483 

Stabiliser Link 

Stabiliser Link 

26BM0340 

26BM0350 

11BM1000

1

26BM0350



                                                                                        
6 (E24)                                                                                          06 / 1982 - 09 / 1990

BMW

8

26BM0001 26BM0001

10

9

3 4

5 5

17BM10

21BM10
21BM10

4 3

17BM11 17BM10 17BM11

6 7

23BM01
23BM0238BM0301

22

17BM0030 17BM0030

--> 05 / 1982

1 1

11BM00 11BM00

26BM0002 26BM0002

6-SERIE

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

33 32 1 126 476 

32 21 1 114 843 

32 21 1 135 819 

32 21 1 135 820 

32 21 1 135 666 

31 12 1 139 991 

331 12 1 139 992 

31 35 1 134 582 

33 55 1 126 932

31 12 1 133 236 

 

Silentblock   

Tie Rod End 

Tie Rod End 

Tie Rod End 

Tie Rod (Adjustable) 

TCA Left 

TTCA Right 

Stabiliser Link 

Stabiliser Link Rear

Silentblock For TCA 

 

di:Ø14 

c:Ø12,6 th:MM16x1,5 RHT 

c:Ø12,6 th:MM14x1,5 LHT 

c:Ø12,6 th:MM14x1,5 RHT 

c:Ø12,6 th:M10x1.0 RHT 

c:1:10 th:M14x1.5 RHT L:324mm 

c:1:c:1:10 th:M14x1.5 RHT L:324mm 

L:240mm  

  

11BM00 

17BM0030 

17BM10 

17BM11 

21BM10 

23BM01 

23BM0223BM02 

26BM0001 

26BM0002

38BM0301 

 

38BM0301



NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
6 (E63)                                                                                          07 / 2003 - 03 / 2010
6 Convertible (E64)                                                                        06 / 2004 - 08 / 2010

6-SERIE

29BM0305 29BM0305

3

5

2
2

17BM0305 17BM030520BM030520BM0305

1 1

11BM0300 11BM0300

1

2

3

4

5

33 32 6 767 748 

32 21 6 756 369 

32 10 6 777 479*

33 50 6 781 540 

32 10 6 774 347 

 

Silent Bushing 

Tie Rod End 

Axial Joint

Stabiliser Link Rear 

Tie Rod

di:Ø16,3 do:Ø52 

th:FM16x1,5 RHT 

th:MM18x1.5 RHT L:260,5mm

 

11BM0300 

17BM0305 

20BM0305

26BM1100 

29BM0305

NO ASMETAL CODE MEASURES OEMDESCRIPTION

6-SERIE COUPE (F13)
6-SERIE CABRIO (F12)
6-SERIE GRAND COUPE (F06)

11/2010 ->
03/2011 ->
09/2011 ->

2 2

3

26BM0320

26BM0330
11BM100011BM1000

EXC. DYN
AM
IC D
RIVE

F10

1

1

2

3

33 32 6 780 438 

31 35 6 777 319 

33 55 6 777 635 

Silentblock Bushing 

Stabiliser Link 

Stabiliser Link Rear 

11BM1000 

26BM0320 

26BM0330 

26BM0320

3

26BM0330EX
C.
 D
YN
AM
IC
 D
RI
VE

F1
0

26BM1100

Exc. Dynamic Stab.Exc. Dynamic Stab.

26BM1100

4

BMW



NO ASMETAL CODE MEASURES OEMDESCRIPTION

6-SERIE GRAN TURISMO (G32) 06/2017 ->

6-SERIE

7-SERIE
                                                                                        
7 (E23)                                                                                         05 / 1977 - 08 / 1986

2

17BM0030

1 1

11BM00 11BM00

26BM0002 26BM0002

2

17BM0030

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

1

26BM0350

26BM0340

XDRIVEEXC. XDRIVEEXC. XDRIVEXDRIVE

1

2

31 30 6 861 485 

31 30 6 861 483 

Stabiliser Link 

Stabiliser Link 

26BM0340 

26BM0350 

1

26BM0340

26BM0350

1

2

3

33 32 1 126 476 

32 21 1 114 843 

33 55 1 126 932 

Silentblock   

Tie Rod End 

Stabiliser Link Rear 

di:Ø14 

c:Ø12,6 th:MM16x1,5 RHT 

  

11BM00 

17BM0030 

26BM0002 

BMW



NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
7 (E32)                                                                                          09 / 1986 - 09 / 1994

BMW
7-SERIE

1

2

3

4

5

6

77

8

9

10

33 32 1 126 476 

32 21 1 135 819 

32 21 1 135 820 

32 21 1 135 666 

31 12 1 139 991 

31 12 1 139 992 

331 35 1 134 582 

31 12 1 130 587

31 12 1 133 236 

33 55 1 131 155 

Silentblock   

Tie Rod End 

Tie Rod End 

Tie Rod (Adjustable) 

TCA Left 

TCA Right 

Stabiliser LinkStabiliser Link 

Silentblock for TCA

Silentblock For TCA 

Stabiliser Mounting 

di:Ø14 

c:Ø12,6 th:MM14x1,5 LHT 

c:Ø12,6 th:MM14x1,5 RHT 

c:Ø12,6 th:M10x1.0 RHT 

c:1:10 th:M14x1.5 RHT L:324mm 

c:1:10 th:M14x1.5 RHT L:324mm 

L:L:240mm  

di:Ø14 do:Ø58,2

 

di:Ø15  

11BM00 

17BM10 

17BM11 

21BM10 

23BM01 

23BM02 

26BM0026BM0001 

38BM0300

38BM0301 

38BM1535 

7

26BM0001 26BM0001

2 3

4 4

17BM10

21BM10 21BM10

3 2

17BM11 17BM10 17BM11

5 6

23BM01

8

9

38BM0300

38BM0301
23BM02

1 1

11BM00 11BM00
10

38BM1535
Ø15 Ø15

38BM1535



NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
7 (E38)                                                                                         10 / 1994 - 11 / 2001

BMW

55

38BM031038BM0310

7-SERIE

1

2

3

4

5

33 32 6 767 748 

32 21 1 141 345 

32 21 1 141 346 

32 21 1 096 057 

31 12 0 006 482 

 

Silentblock Bushing 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod Center 

Silentblock for TCA 

 

di:Ø16,3 do:Ø52 

c:Ø14,6 th:FM16x1,5 RHT 

c:Ø14,6 th:FM16x1,5 RHT 

th1:M12x1.5 RHT th2:M16x1.5 RHT L:514mm 

di:Ø14,1 do:Ø66,2 

 

11BM0300 

17BM0500 

17BM0501 

22BM0300 

38BM0310 

 

1

2

3

4

33 32 6 767 748 

32 21 6 756 369 

31 30 6 781 545 

31 30 6 781 546 

Silentblock Bushing 

Tie Rod End 

Stabiliser Link Left 

Stabiliser Link Right 

di:Ø16,3 do:Ø52 

th:FM16x1,5 RHT 

L:425mm  

L:425mm  

11BM0300 

17BM0305 

26BM0310 

26BM0311 

2

17BM0500

3

17BM0501

4
22BM0300

1

11BM0300

17BM0305

11BM0300

1

11BM0300 11BM0300

                                                                                        
7 (E65,E66,E67)                                                                            11 / 2001 - 09 / 2008

3 4

26BM0310 26BM0311

2

17BM0305



NO ASMETAL CODE MEASURES OEMDESCRIPTION

7-SERIE (F01, F02)
7-SERIE HYBRID (F04)

10/2008 - 12/2015
10/2010 - 12/2015

7SERIE (G11, G12) 10/2014 ->

BMW

2

3

26BM0320

26BM0330

11BM1000

EXC. DYNAMIC DRIVE
1

7-SERIE

1

2

3

33 32 6 780 438 

31 35 6 777 319 

33 55 6 777 635 

Silentblock Bushing 

Stabiliser Link 

Stabiliser Link Rear 

11BM1000 

26BM0320 

26BM0330 

26BM0320

3

26BM0330

EXC. DYNAMIC DRIVE

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

1

26BM0350

26BM0340

XDRIVE
EXC. XDRIVEEXC. XDRIVE

XDRIVE

1

2

31 30 6 861 485 

31 30 6 861 483 

Stabiliser Link 

Stabiliser Link 

26BM0340 

26BM0350 

1

26BM0340

26BM0350

11BM1000



NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
8 (E31)                                                                                          04 / 1990 - 12 / 1999

8-SERIE

1

2

3

4

32 21 1 135 819 

32 21 1 135 820 

32 21 1 135 666 

31 35 1 134 582 

Tie Rod End 

Tie Rod End 

Tie Rod (Adjustable) 

Stabiliser Link 

 

 

c:Ø12,6 th:MM14x1,5 LHT 

c:Ø12,6 th:MM14x1,5 RHT 

c:Ø12,6 th:M10x1.0 RHT 

L:240mm  

 

 

17BM10 

17BM11 

21BM10 

26BM0001

4

26BM0001 26BM0001

1 2

3 3

17BM10

21BM10 21BM10

2 1

17BM11 17BM10

17BM11

BMW



NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
X1 (E84)                                                                                        03 / 2009 - 06 / 2015

X1

89

26BM2451

sDrive sDrive
xDrive

26BM245026BM250126BM2500

           TRW STEERING

16

3 4

7

29BM2452

20BM2452

1110

20BM2452

29BM2453

17BM2450 17BM2451

17

        ZF STEERING

14

3 4

6

29BM2450

20BM2450

5

20BM2450

20BM0600 20BM0600

29BM2451

17BM2450 17BM2451

15

3
4
5
6
7
8
99
10
11
14
15
16
17

32 10 6 767 781 
32 10 6 767 782 
32 10 6 768 879 
32 10 6 765 235 
32 21 6 762 243 
31 35 6 765 934 
331 35 6 765 933 
31 35 6 768 771 
31 35 6 768 772 
32 10 6 765 235 
32 10 6 765 236 
32 21 6 762 243 
32 21 6 762 244 

Tie Rod End Left 
Tie Rod End Right 
Axial Joint 
Axial Joint 
Axial Joint 
Stabiliser Link Right 
Stabiliser Link LeStabiliser Link Left 
Stabiliser Link Left 
Stabiliser Link Right 
Tie Rod Left 
Tie Rod Right 
Tie Rod Left 
Tie Rod Right 

th:FM14x1,5 RHT 
th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:260mm 
th:MM18x1.5 RHT L:256mm 
th:MM18x1.5 RHT L:246mm 
L:290mm  
L:290mm L:290mm  
 
 
 
 
 

17BM2450 
17BM2451 
20BM0600 
20BM2450 
20BM2452 
26BM2450 
26BM26BM2451 
26BM2500 
26BM2501 
29BM2450 
29BM2451 
29BM2452 
29BM2453 

BMW



NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
X3 (E83)                                                                                        01 / 2004 - 09 / 2010

X3

BMW

xDrivexDrive

1

13

10BM0400

26BM2511

1

10BM0400

3

38BM1505

4

38BM0500 38BM0500

38BM0301

2

1

2

38BM1505

4

38BM1500 38BM1500

1

2

3

4

31 12 1 133 236

31 12 0 307 882 

33 32 6 770 824 

33 32 6 471 828 

Silentblock For TCA

Bushing 

Silentblock for Sus.Arm 

Silentblock for Sus.Arm 

di:Ø14,2 do:Ø66,2 

di:Ø12,1 do:Ø35,3 

di:Ø12 do:Ø45,5 

38BM0301

38BM0500 

38BM1500 

38BM1505 

1

2

12

13

31 12 6 768 988

33 32  6 756 249 

33 50 6 785 607 

33 50 6 785 608 

Ball Joint

Silentblock Bushing

Stabiliser Link Rear Left 

Stabiliser Link Rear Right 

10BM0400

11BM2600 

26BM2510 

26BM2511 

th:M14x1.5 RHT  cp:1/8 cs:Ø17,8  

                                                                                        
X1 (E84)                                                                                        03 / 2009 - 06 / 2015

X1

2

11BM2600

2

11BM2600

12

26BM2510



NO ASMETAL CODE MEASURES OEMDESCRIPTION

X4 (F26) 04/2014 - 03/2018

X4

BMW

1

11BM2600

1

11BM2600

1

11BM2600

1

11BM2600

1 33 32  6 756 249 Silentblock Bushing 11BM2600 

                                                                                        
X3 (F25) 09/2010 -->

X3

UPPER

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 33 32  6 756 249 Silentblock Bushing 11BM2600 

UPPER



NO ASMETAL CODE MEASURES OEMDESCRIPTION

X5
                                                                                        
X5 (E53)                                                                                        05 / 2000 - 12 / 2006

7

26BM0401

6

26BM0400
           --> 10 / 2003

9

3 35

20BM0400 20BM040017BM0400 17BM0400

9

10 / 2003 -->

4
5

20BM0400 17BM0405

8

26BM0405

12

26BM0405

1

10BM0400

2

11BM0300

38BM0500

38BM0301

38BM0600

1

10BM0400

2

11BM0300

11

10

20BM0400

4

17BM0405

1
2
3
4
5
6
77
8
9
10
11
12

31 12 1 096 425 
33 32 6 767 748 
32 21 1 096 327 
32 10 6 774 335 
32 10 6 774 336* 
31 35 6 750 704 
331 35 6 750 703 
33 55 1 096 735 
32 21 6 751 277
31 12 1 133 236  
31 12 1 096 372 
33 32 6 767 832* 

Ball Joint 
Silent Bushing 
Tie Rod End 
Tie Rod End 
Axial Joint 
Stabiliser Link Right 
Stabiliser Link LeStabiliser Link Left 
Stabiliser Link Rear 
Tie Rod 
Silentblock For TCA
Silentblock for TCA 
Silentblock for TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø17,8  
di:Ø16,3 do:Ø52 
c:Ø15,3 th:FM14x1,5 RHT 
c:Ø15,3 th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:221mm 
L:358,5mm  
L:358,5mm L:358,5mm  
L:66mm  
 

di:Ø14,2 do:Ø66,2 
di:Ø12,2 do:Ø49,3 

10BM0400 
11BM0300 
17BM0400 
17BM0405 
20BM0400 
26BM0400 
26BM0426BM0401 
26BM0405 
29BM0400
38BM0301 
38BM0500 
38BM0600 

29BM0400 29BM0400

BMW

38BM0600



26BM042026BM0420

NO ASMETAL CODE MEASURES OEMDESCRIPTION

X5

X5 (E70)
X5 (F15)

02/2007 - 06/2013
07/2013 ->

1
2
3
4

33 32 6 770 985 
37 11 6 771 929 
37 11 6 771 939 
33 55 6 771 937 

Silentblock Bushing 
Stabiliser Link Left 
Stabiliser Link Right 
Stabiliser Link Rear 

11BM0420 
26BM0410 
26BM0411 
26BM0420 

BMW

X6

X6 (E71)
X6 (E72 HYBRID) 
X6(F16)

05/2008 - 06/2014
05/2008 - 06/2014
08/2014 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4

33 32 6 770 985 
37 11 6 771 929 
37 11 6 771 939 
33 55 6 771 937 

Silentblock Bushing 
Stabiliser Link Left 
Stabiliser Link Right 
Stabiliser Link Rear 

11BM0420 
26BM0410 
26BM0411 
26BM0420 

3

4

2

26BM0411

26BM042026BM0420

26BM0410

32

26BM041126BM0410

11

11BM0420 11BM0420

4

26BM042026BM0420

11

11BM0420 11BM0420



NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
Z1                                                                                                06 / 1988 - 06 / 1991

BMW
Z1

6

26BM0100 26BM0100

77

29BM0002

3

17BM0002

3

17BM0002

29BM0002

4

20BM0031 20BM0031

1
2
3
4
5
6
77
8
9

31 12 1 126 254 
31 12 1 126 253 
32 11 1 126 757 
32 11 1 127 124* 
33 55 1 126 932 
31 35 1 091 764 
32 32 11 1 125 186 
33 32 6 770 824 
33 32 6 471 828 

Ball Joint 
Ball Joint 
Tie Rod End 
Axial Joint 
Stabiliser Link Rear 
Stabiliser Link 
Tie Tie Rod 
Silentblock for Sus.Arm 
Silentblock for Sus.Arm 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,3 do:Ø41,4 

th:M14x1.5 RHT  cp:1/5 cs:Ø14,7 do:Ø41,4 
c:Ø12,6 th:MM14x1,5 RHT 
th:MM18x1.5 RHT L:232mm 
  
L:66mm  
  
di:Ø12,1 do:Ø35,3 
di:Ø12 do:Ø45,5 

10BM0010 
10BM0011 
17BM0002 
20BM0031 
26BM0002 
26BM0100 
29BM000229BM0002 
38BM1500 
38BM1505 

           <-- 10 / 1989

1
2

10BM0010 10BM0011 10BM0011 10BM0010

1

09 / 1990 -->

38BM1500 38BM1500

8

5

38BM1505

9

26BM0002 26BM0002

38BM1505

9



NO ASMETAL CODE MEASURES OEMDESCRIPTION

BMW
                                                                                        
Z3 Coupe                                                                                       01 / 1997 - 06 / 2003
Z3 Roadster                                                                                   10 / 1995 - 06 / 2003

Z3

1
2
3
4
5
6
77
8
9

31 12 1 140 398 
31 12 1 140 398 R 
31 12 1 139 131 
32 11 1 139 313 
32 11 1 139 314 
32 11 1 139 315*P 
331 35 1 091 764 
32 11 1 139 315 
32 11 1 139 316 

Ball Joint 
Ball Joint 
Ball Joint 
Tie Rod End Left 
Tie Rod End Right 
Axial Joint 
Stabiliser LinkStabiliser Link 
Tie Rod Left 
Tie Rod Right 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø35 

th:M12x1.5 RHT  cp:1/10 cs:Ø14,4 do:Ø49,4 

th:M14x1.5 RHT  cp:1/5 cs:Ø14,7 do:Ø41,4 
c:Ø12,6 th:FM14x1,5 RHT 
c:Ø12,6 th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:207mm 
L:66mm L:66mm  

10BM0100 
10BM0101 
10BM1500 
17BM1501 
17BM1502 
20BM1500 
26BM26BM0100 
29BM1501 
29BM1502 

7

26BM0100 26BM0100

Exc.M3 Exc.M3

8

4

9

29BM1501

6

20BM1500 20BM1500

5

29BM1502

2

33

1 1

10BM0101

10BM1500

10BM0100 10BM0100

10BM1500

10BM0101

17BM1501 17BM1502



NO ASMETAL CODE MEASURES OEMDESCRIPTION

5

26BM2000 26BM2000

2
17BM2000

3
17BM20014

20BM2000 20BM2000

EXC. XI-XD

6 7

30BM2000
30BM2001

8 9
30BM2002

13

38BM1520

12

38BM1510

14

38BM152138BM1510

30BM2003

                                                                                        
Z4 Coupe (E86)                                                                              03 / 2006 - 01 / 2009
Z4 Roadster (E85)                                                                          02 / 2003 - 12 / 2009

Z4

2
3
4
5
6
7
88
9
12
13
14

32 10 6 774 220 
32 10 6 774 221 
32 10 6 774 222 
31 35 1 095 694 
31 12 2 282 121 
31 12 2 282 122 
331 12 2 282 121 S1 
31 12 2 282 122 S1 
31 12 1 095 277*
31 12 6 754 899 
31 12 6 754 900 

Tie Rod End Left 
Tie Rod End Right 
Axial Joint 
Stabiliser Link 
TCA Left 
TCA Right 
TTCA Left 
TCA Right 
Silentblock Inner for TCA 
Silentblock for TCA Left 
Silentblock for TCA Right 

c:Ø14,6 th:FM14x1,5 RHT 
c:Ø14,6 th:FM14x1,5 RHT 
th:MM18x1.5 RHT L:204mm 
L:270mm  

do:Ø66,5 
  

 

17BM2000 
17BM2001 
20BM2000 
26BM2000 
30BM2000 
30BM2001 
30BM200230BM2002 
30BM2003 
38BM1510 
38BM1520 
38BM1521 

BMW



NO ASMETAL CODE MEASURES OEMDESCRIPTION

BMW
                                                                                        
Z4 Coupe (E86)                                                                              03 / 2006 - 01 / 2009
Z4 Roadster (E85)                                                                          02 / 2003 - 12 / 2009

Z4

1

11BM1500

11

38BM1505

10

38BM1500

1

11BM1500

11

38BM1505

16

38BM1535 38BM1535

15

10

38BM1500

Ø17 Ø17

Ø17 Ø17
38BM1530 38BM1530

1
10
11
15
16

33 32 1 138 722
33 32 6 770 824
33 32 6 471 828
33 55 1 138 104
33 55 1 131 155

11BM1500
38BM1500
38BM1505
38BM1530
38BM1535

Silentblock

Silentblock for Sus.Arm

Silentblock for Sus.Arm

Stabiliser Mounting

Stabiliser Mounting

 

di:Ø12,15 do:Ø45,2 
di:Ø12,1 do:Ø35,3 
di:Ø12 do:Ø45,5 
 di:Ø17  
di:Ø15  
 
 



NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5
6
77
8
9
10

Z4 Roadster (E89) 05/2009 -->

Z4

56

1

11BM1500

10

38BM1505

9

38BM1500

1

11BM1500

10

38BM1505

9

38BM1500

26BM2451 26BM2450

7

2 3

4

29BM2450

20BM2450 20BM2450

29BM2451

17BM2450 17BM2451

8

33 32 1 138 722 

32 10 6 767 781 

32 10 6 767 782 

32 10 6 765 235* 

31 35 6 765 934 

31 35 6 765 933 

32 32 10 6 765 235 

32 10 6 765 236 

33 32 6 770 824 

33 32 6 471 828 

 

 

 

Silentblock   

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Right 

Stabiliser Link Left 

Tie Tie Rod Left 

Tie Rod Right 

Silentblock for Sus.Arm 

Silentblock for Sus.Arm 

 

di:Ø12,15 do:Ø45,2 

th:FM14x1,5 RHT 

th:FM14x1,5 RHT 

th:MM18x1.5 RHT L:256mm 

L:290mm  

L:290mm  

  

 

di:Ø12,1 do:Ø35,3 

di:Ø12 do:Ø45,5 

 

 

11BM1500 

17BM2450 

17BM2451 

20BM2450 

26BM2450 

26BM2451 

29BM29BM2450 

29BM2451 

38BM1500 

38BM1505 

BMW



NO ASMETAL CODE MEASURES OEMDESCRIPTION

Z8
                                                                                        
Z8 (E52)                                                                                        06 / 2000 - 06 / 2003

33 32 6 767 748 

32 11 1 094 673* 

31 12 9 068 753 

Silentblock   

Axial Joint 

Silentblock for Sus.Arm 

di:Ø16,3 do:Ø52 

th:MM18x1.5 RHT L:174,5mm 

di:Ø12,2 do:Ø58,5 

11BM0300 

20BM0300 

38BM0305 

1 1

11BM0300 11BM0300

3

38BM0305

3

38BM0305

20BM0300 20BM0300

2

BMW

1

2

3


